et Aid Name:
Population Addition Word Problems

Solve each word problem by adding to find the total population

1. A town has 11,200 residents, and another has 13,400. What is
the total population?
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2. City A has 24,300 people, and City B has 15,600. What is the
total population?
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3. There are 16,500 people in a village and 17,800 in another.
What is the total population?
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4. Country X has 12,500 people, and County Y has 13,100.
What is the total population?

+

5. Two neighboring cities have 17,500 and 19,100 people. What
is the total population?
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